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Ih*@vj&oke& 2)D chams: [De)moam Lawjexmam G(Rourke,
Inoeyink 2009 & 2003 ]
— smallest ocked chain has & bars (knith needlls),
6 if closed [Covlarella& Sohnston 1 %:?
— Can wWe 3@T away with Cewer bars (per chain)

i( we lf\ave move %\am One. d\aimz.
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[OPEN|: smallest k for which 3-bar open chain
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No finite set of Q-choins con ivterfock  “hairpins
. even if dchams are held rgio“ v
— explbsion malion: [Dawson 1984: de Brujn 195Y]
— scafe 2D space from ovigin by fochr 1+t,
fime tZQ{ (P°M+ p (14"(:){))
— preserves non- pitersechion (affne transfarm)
bul” hot the e&ge %\4\5: ol oo Qorg
— shorten bor Qengths o ovigined lengths
as time t proceeds
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Two open 5 'dz\a‘w\s Cduf\\1L Tn‘\Errok
cr een With fintely many Q-chains added in
— perlurh chains so that no nonincidedt bars ave
coplanar & no Hhree vertices ave collinear
— find plane poralled to fwo middle bars
such that middle bors are on opposife sides
- ‘fe-owem*' to vr\a\<e it the xy PQavxe
— perturb chons so that ol 2 concds. digtinet
— eXPQOCQe Jusf in 2 Gﬂgq“t) \—é(mgq (1%)23.\ ‘(LZQ
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— ol chains separgte verticalll
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—view A as fixed /»e\\
— suppdse A has x
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ot origin, cadius v /
— fof R=r+ Zmdde bors
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— Conscher {Ns* \rroQaJn\on‘- fwo Cases
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both end bars sfrike A )y ¢ o g
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\riafions:
— v*rgrd? chains  (Gike -chain esulh)
— fixed -anglle (“cevolide’) chains
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| fhox_c5d| flox. fxon, vigid| flex. fixans, vigid | vigid |
2 \CvQQX - =T /] T \V7T = 7T +

vod| = =T = T+ + + |+
Py | — = — — + |+ + 4 | +
3 fxapl — — | — + + |+ + + |+
opd| = + [+ + + |+ + + |+
Féx. — 4+ |+ + t |+ + + |+
Yaw = + |+ + + |+ + + |+
apd — + |+ + + [+ + + |+
Sopdl + £+ 1+ + + [+ + 4 t




